Name

Commutative Property Independent Practice

Solve the problem and then rewrite the problem and solve it again. Follow

the example that is provided.

Example: 9 +4 = 13 4+9=13
15x2x9=___ _X__ =___
12 +24=_ o+ =
14+ 6+24 = __ o+ =
6x17x8=___ _X__ =__
23+ 9+ 14 =__ o+ =
22xXx6x5=__ X =__
26+ 18+8 =_ o+ =
18x4=___ X _=__
18+ 9+ 13 =_ o+ =
19+7=___ _+ _ =_
23x17x2=___ _X_ =__
32+ 8+ 17 =____ o+ =
24x6x14=___ X _ = __
34+ 8+ 17 =____ o+ =
8x3x11= _X__ =___
23+ 4+32 =__ o+ =
25x17x6=___ X =__
31 +16=__ _*+_ =__
21+ 17+ 37 = o+ =
17x6=__ X _=__
21 x 8 x 23 = X =__
42 +36 = _+_ =_
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